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 𝐤 =
𝟏

𝟐
 𝐚. 𝐛 𝐬𝐢𝐧 𝑪 

 𝐤 =
𝟏

𝟐
 𝐚. 𝒄 𝐬𝐢𝐧 𝑩

 𝐤 =
𝟏

𝟐
 𝐛. 𝐜 𝐬𝐢𝐧 𝑨

  𝒌

 

 

 
∆𝑨𝑩𝑪 

 𝐤 =
𝟏

𝟐
 (𝟏𝟐)(𝟏𝟓) 𝐬𝐢𝐧 𝟓𝟖°

 𝐤 = 𝟕𝟔. 𝟑   𝒎𝟐 

 

 𝐤 =
𝟏

𝟐
 𝐚. 𝒄 𝐬𝐢𝐧 𝑩 

𝑨 = 𝟑𝟒°  , 𝒃 = 𝟏𝟗. 𝟒 𝒇𝒕   ,   𝒄 = 𝟖. 𝟔 𝒇𝒕 

 𝐤 =
𝟏

𝟐
 𝐛. 𝐜 𝐬𝐢𝐧 𝑨

 𝐤 =
𝟏

𝟐
 (𝟏𝟗. 𝟒)(𝟖. 𝟔) 𝐬𝐢𝐧 34°

 k = 𝟒𝟔. 𝟔  𝒇𝒕𝟐 

 

:

  AAS  

    ASA

       SSA

𝐬𝐢𝐧 𝑨

𝒂
=

𝐬𝐢𝐧 𝑩

𝒃
=

𝐬𝐢𝐧 𝑪

𝒄

 

https://ar.wikipedia.org/wiki/%D9%85%D8%AB%D9%84%D8%AB
https://ar.wikipedia.org/wiki/%D8%AC%D9%8A%D8%A8_(%D8%B1%D9%8A%D8%A7%D8%B6%D9%8A%D8%A7%D8%AA)
https://ar.wikipedia.org/wiki/%D8%AC%D9%8A%D8%A8_(%D8%B1%D9%8A%D8%A7%D8%B6%D9%8A%D8%A7%D8%AA)
https://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9_%D8%AF%D8%A7%D8%AE%D9%84%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9_%D8%AF%D8%A7%D8%AE%D9%84%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9_%D8%AF%D8%A7%D8%AE%D9%84%D9%8A%D8%A9
https://youtu.be/_JhzsG9Sl6I
https://youtu.be/2DybHPeMd6U

